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PART 1. USE OF ENGLISH. TIME: 60 minutes. Maximum: 41 marks.

TASK 1.1. Choose the best answer A, B, C, or D. (max 10)

1. Justice Sandra Day O’Connor was to serve on the U.S. Supreme Court.
A the woman who first
B the first woman

C who the first woman
D the first and a woman

2. North Carolina is well known not only for the Great Smoky Mountains National Park for the
Cherokee settlements.
A also B and C but also D because of

3. General Grant had General Lee him at Appomattox to sign the official surrender of the
Confederate forces.
A to meet B met C meet meeting

4, both men and women have often achieved their career ambitions by midlife, many people

are afflicted by at least a temporary period of dissatisfaction and depression.
A Because B So C A D Who

5. small specimen of the embryonic fluid is removed from a fetus, it will be possible to
determine whether the baby will be born with birth defects.
A A B That a C Ifa D When itis a
6. To generate income, magazine publishers must decide whether to increase the subscription price or
A to sell advertising B if they should sell advertising
C selling advertising D sold advertising
7. Ifit more humid in the desert of the Southwest, the hot temperatures would be unbearable.
A be B is C was D were
8. Java Man, who lived before the first Ice Age, is the first manlike animal.
A It is generally believed that B Generally believed it is
C Believed generally is D That is generally believed
9. For the investor who money, silver or bonds are good options.
A has so little a B has very little C hassofew D has very few
10. Of all the cereals, rice is the one food for more people than any of the other grain crops.
A it provides B that providing C provides D that provides

TASK 1.2. Open the brackets. (max 11)

1. Many interesting activities (to put) in our plan.
2. English, German, Italian (to speak) around us in the hall now.
3. I said I (to wait) for her there since two o’clock.
4. Suddenly I noticed that all the people in the room (to look) at me.
5. When Nick fell ill, he (to put) in a hospital.
6
7
8
9.
1

. He (to lock) the door and (to sit) down on the sofa. :
. The delegation (to start) for Spain tomorrow.
. They (to sail) for a month when at last they saw land.

| (to try) to get the book since | heard about it, but in vain!
0. I see that you (not to listen) to me.




TASK 1.3. Translate from Russian into English. (max 20)

1. TIpoBokaeMblif BOCTOPKEHHBIMU KPUKaMH OOJIEIBIINKOB, OH CEJ B MAIlIUHY.

2. OHa HaKJIOHWIACh KO MHE, YTOOBI 51 MOT JIy4YIlle YBUETh €€ JIUIIO.

3. ManoBeposiTHO, YTO YTO-HUOYAb U3MEHUTHCS OT ITOTO.

4. MHe Xajb, YTO BBl HE COXPAHWUIIH ITO TTHCHMO.

5. Ecnu 651 MBI ipoBen OOJIBIIE PEMIETHIMN, TO HAIl BYSPAIIHUHN CIIEKTAKIIb UMEN Obl OONBIION yCeX.
6. Omn, HaBepHOE, MOBEPUIT BCEMY, YTO MBI €My paccKa3aliu.

7. Korna Hemnu y3naer 00 3ToM, OHa OyZIeT O4eHb paja.

8. Heyxenu s Takas paccesiHHas?

9. Tebe He HYX)HO OBLJIO paccKa3bIBaTh BCEM 00 3TOM JieJie.

10. OH cripocwt, HE TTIOMOTY JIM 51 MY B 3TOM BOIIPOCE.

PART 2. READING COMPREHENSION. TIME: 40 minutes. Maximum: 20 marks.

TASK 2.1. Read this text about development in adolescence. Then complete the following sentences with
words from the text. (max 14)

The final stage before adulthood is adolescence. This is a period of transition for teenagers and there are
many crucial milestones. Socially and emotionally, teens worry that they may not be developing at the same
rate as their peers. They become extremely self-conscious and may be overly sensitive about their appearance.
Teens may rebel against their parents but are also more able to accept the consequences of their actions.

This is also a period of enormous physical change and adolescents experience changes in their physical
development at a rate unparalleled since infancy. These changes include significant gains in height and weight.
Within a year, boys and girls can gain an average of 4.1 inches and 3.5 inches in height respectively. This
growth spurt typically occurs two years earlier for girls than for boys and can tend to make both sexes go
through a clumsy phase. In terms of their cognitive development, adolescents have greater reasoning skills and
have developed the ability to think logically and hypothetically. They are also able to discuss more abstract
concepts. They should also have developed strategies to help them study.

1. First-year students often struggle with the from high school to university.

2. The at which a change occurs can cause problems for both the very young and the
elderly.

3. It can be less stressful to make a presentation to your rather than to your teachers.

4. The increase in violence among young people may be a of watching too much
violence on TV and in video games.

5. Petrol prices are increasing at a speed that is since the oil crisis of the 70s.

6. Teenagers rebel against their parents between the ages of 14 and 16.

7. Infinity is a very difficult for children to grasp.

TASK 2.2. Read the text and complete the gaps with the options below. There is one extra option. (max 6)

The most famous schools in Britain are private boarding schools, such as Eton College, Harrow School,
Rugby School and Winchester School. These famous private schools, founded during the Middle Ages, are
theoretically open to the public, but in reality are attended by those 1 . Many of Britain’s leaders
have attended these private schools, which cater to the wealthy and influential 2 . A variety of other
schools are also private, including kindergartens, day schools, and newer boarding schools. Private schools that
take pupils from the age of 7 to the age of 11, 12, or 13 are called preparatory schools. Private schools that take
older pupils from the age of 11, 12, or 13 to 18 or 19 are often referred to as public schools. Only 7 percent of
British students attend those schools.

In England, Wales, and Northern Ireland the education systems are similar. The majority of the students
attend schools 3 . These include state schools, voluntary schools, and self-governing or grant-
maintained schools that receive funds directly from the government rather than local authorities.



At the age of sixteen, 4 , Students are tested in various subjects to earn a General Certificate of
Secondary Education (GCSE). They should take Advanced Level examinations, commonly known as “A”
Levels 5 :

Scotland has comparable qualifications. About a third of British students leave school as soon as possible
after turning 16, usually taking lower-level jobs in the workforce.

Those 6 may pursue either further education or higher education. Further education is largely
vocational. Students may also stay in school until age 18 to prepare for higher education.

who stay in school past the age of 16

if they wish to go on to higher education at a university
which are called comprehensive schools

who can afford the fees

prior to leaving school

but also offer some scholarships to gifted poorer children
which are wholly or partly supported with public funds
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PART 3. WRITING. TIME: 80 minutes. Maximum: 39 marks.
TASK 3.1. Express your opinion about the statement using 5-10 words. (max 9)

In future computers will
Travelling helps us
Teenagers today don’t know the difference
Each person is born
Strange phenomena are
There is only one thing worse than
Modern society is
Urban culture is

The best way to preserve nature is
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TASK 3.2. Write a story, based on one of the key moments 1-4 below. (max 30)

e Write between 250-300 words.

e Use the four section plan from the box.

e Give your story an interesting title.
Key moments:

1. I’d been driving for an hour before | noticed the sound of breathing coming from the back seat.

2. When Lydia opened the door, she couldn’t believe her eyes. ‘Tomas — is that you?’, she said, ‘I thought

you were dead!”

3. ‘I think we’ve missed the airport turn off,” | said, but the taxi driver just carried on driving.

4. 1 was woken by the shout of “Tickets please,” and when | reached for my bag, | realized it was gone.
Section plan:

1. Attention hook a key moment from the middle of the story.

2. Flashback explaining previous events leading up to the key moment.

3. Events after the key moment how the story goes on after the key moment.

4. Resolution of the story how the mystery is solved.
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PART 1. USE OF ENGLISH. TIME: 60 minutes. Maximum: 42 marks.
TASK 1.1. Choose the one word or phrase that best completes the sentence: (max 10)

1. The attorney told his client that :
A) they had little chance of winning the case. C) it was nearly impossible to win him the case.

B) the case was of a small chance to win. D) the case had a minimum chance to be won by him.
2. was the day before yesterday.

A) The France’s Independence Day C) French’s Independence Day

B) The day of the French independence D) France’s Independence Day
3. The people at the party were worried about Jane because no one was aware she had gone.

A) where that B) of where C) of the place where D) the place

4. The chairman requested that

A) the members studied more carefully the problem C) with more carefulness the problem could be studied
B) the problem was more carefully studied D) the members study the problem more carefully
5. Having been served lunch,
A) the problem was discussed by the members of the committee
B) the committee members discussed the problem
C) it was discussed by the committee members the problem
D) a discussion of the problem was made by the members of the committee
6. Anna was one

A) of the happy childs of his class C) child who was the happiest of all the class
B) of the happiest child in the class D) of the happiest children in the class

7. Many of the current international problems we are now facing :
A) linguistic incompetencies C) are because of not understanding themselves

B) are the result of misunderstandings D) lacks of the intelligent capabilities of understanding each other
8. The changes in this city have occurred .
A) with swiftness  B) rapidly C) fastly D) in rapid ways
9. The skiers would rather through the mountains than go by bus.
A) to travel on train C) travel by train
B) traveled by train D) traveling by the train
10. , he would have been able to pass the exam.
A) If he studied more C) Studying more
B) If he were studying to a greater degree D) Had he studied more
TASK 1.2. Open the brackets: (max 12)
The ceiling in this room doesn’t look very safe, does it? — No, it looks as if it (fall) down.
If I had seen the movie, | (tell) you about it last night.
Mrs. Brown always talks to her students as though they (be) adults.
The photos are black. The X rays at the airport (must, damage) them.
(they, speak) French or German now? | don’t understand them.
Look! There’s smoke coming out of that house! It’s on fire! — | (call) the firefighters
immediately.
I (accept) if they invite me to the party.
Linda is reading the newspaper. She (read) it for two hours.
William Shakespeare (live) from 1564 to 1616. He (be) a writer. He
(write) many plays and poems.
10. I know Margaret. | (know) her for a long time.
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TASK 1.3. Translate from Russian into English. (max 20)

1. Tloe3n euie He npuIen, OH ona3siBaeT. HaBepHOe, MbI Tak U HE BCTPETUMCSI ¢ AHHOM CeroaHsl.

2. JIpy3bst IpOCTOSIN Y allTEKH MOJITOpa yaca, IoKa OHa, HAaKOHEIl, OTKPbLIAcCh.

3. Ecnu 65l st 3aKoHYMI IEpeBOJ] BUEpa, st ObLT ObI CBOOOICH CErOIHA.

4. Mapka cyuTaqd SHEPrUYHBIM, HO HE HMHTepecHbIM. Kak roBopun wmoi oter: «Takue OO pPEIKo
JI0OMBAIOTCA YCIIEXOBY». YK OH-TO 3HaeT!

5. Tl'oBopsT, y HEee cemb nodepeii. Kak e oHa oTBaXkuiach Ha Takoe!

6. Kakas nenactnas noroga! Ocenp npuiia. CTaHOBUTCS BCE XOJIOIHEE U XOJIOIHEE.

7. Tlo BeuepaMm, ObIBaIO, HAIIl KAIUTAH PACCKa3bIBaJl HAM O CBOMX OECKOHEUYHBIX MPUKIIOYEHHUSIX Ha MOPE.

8. Bor Tl r1e, [lxon! A g Bce uckan te6s. Hakonen-to Hamen. Emie Buepa XxoTes HO3BOHUTH Te€OE, HO OTEPST

CBOI1 OJIOKHOT CO BCEMU HOMEPAMH.
9. Xopolue KHUTH HE JIeKAT Ha MOJIKaxX B Onbmuoreke. X MOCTOSIHHO YUTAIOT.
10. Hano xe! Most pyuka HUKaK He mUIIeT! A s JOJDKEH CTOJBKO YCIETh 3aruicaTrh.

PART 2. READING COMPREHENSION. TIME: 40 minutes. Maximum: 18 marks.
TASK 2.1. Read the passage about children cared for by wolves. Then answer all questions following a
passage on the basis of what is stated or implied in the passage. (max 9)

As far back as 700 B.C., man has talked about children being cared for by wolves. Romulus and Remus,
the legendary twin founders of Rome, were purported to have been cared for by wolves. It is believed that when
a she-wolf loses her litter, she seeks a human child to take its place.

This seemingly preposterous idea did not become credible until the late nineteenth century when a French
doctor actually found a naked ten-year-old boy wandering in the woods. He did not walk erect, could not speak
intelligibly, nor could he relate to people. He only growled and stared at them. Finally the doctor won the boy’s
confidence and began to work with him. After many long years of devoted and patient instruction, the doctor
was able to get the boy to clothe and feed himself, recognize and utter a number of words, as well as write
letters and form words.

1. The French doctor found the boy

A)wandering in the woods C) growling at him

B) at his doorstep D) speaking intelligibly
2. In this passage, the word litter most nearly means

A) garbage B) master C) offspring D) hair
3. When a she-wolf loses her litter

A) she seeks a lamb to take its place. C) she finds a human child to replace it.

B) she kills a human child. D) she seeks for an opportunity to revenge.
4. The doctor was able to work with the boy because

A) the boy was highly intelligent C) the boy liked to dress up

B) the boy trusted him D) the boy was dedicated and patient

5. Which of the following statements is not true?
A) She-wolves have been said to substitute human children for their lost litters.
B) Examples of wolves’ caring for human children can be found only in the nineteenth century.
C) The French doctor succeeded in domesticating the boy somewhat.
D) The young boy never was able to speak perfectly.
6. In this passage, the word preposterous most nearly means

B) dedicated B) scientific C) wonderful D) absurd
7. When the doctor won the boy’s confidence

A) he trusted him. C) he stared at him.

B) he began to work with him. D) he helped him.

8. When did a French doctor find a naked boy in the woods?

9. Who cared for Romulus and Remus?




TASK 2.2. Read the passage about the Rosetta stone. Then answer all questions following a passage on
the basis of what is stated or implied in the passage. (max 9)

Napoleon Bonaparte’s ambition to control all the area around the Mediterranean Sea led him and his
French soldiers to Egypt. After losing a naval battle, they were forced to remain there for three years. In 1799,
while constructing a fort, a soldier discovered a piece of stele (stone pillar bearing an inscription) known as the
Rosetta stone. This famous stone, which would eventually lead to the deciphering of ancient Egyptian
hieroglyphics dating to 3100 B.C., was written in three languages: hieroglyphics (picture writing), demotic (a
shorthand version of hieroglyphics), and Greek. Scientists discovered that the characters, unlike those in
English, could be written from right to left and in other directions as well.

Twenty-three years after discovery of the Rosetta stone, Jean Francois Champollion, a French philologist,
fluent in several languages, was able to decipher the first word — Ptolemy — name of an Egyptian ruler. This
name was written inside an oval called a “cartouche”. Further investigation revealed that cartouches contained
names of important people of that period. Champollion painstakingly continued his search and was able to
increase his growing list of known phonetic signs. He and an Englishman, Thomas Young, worked
independently of each other to unravel the deeply hidden mysteries of this strange language. Young believed
that sound values could be assigned to the symbols, while Champollion insisted that the pictures represented
words.

1. How many years elapsed between the date of the oldest hieroglyphics deciphered by means of the Rosetta
stone and the stone’s discoveries?

A) 1,301 B) 1,799 C) 3,100 D) 4,899
2. Which of the following languages was not written on the Rosetta stone?
A) French B) demotic C) Greek D) hieroglyphics

3. What did the scientists discover about the characters?
A) They could be written from left to right C) They could be written in the directions unlike those in English
B) They could be written in other directions. D) They could be written from right to left.
4. Which of the following statements is not true?
A) Cartouches contained names of prominent people of the period.
B) Champollion and Young worked together in an attempt to decipher the hieroglyphics.
C) One of Napoleon’s soldiers discovered the Rosetta stone.
D) Thomas Young believed that sound values could be assigned to the symbols.
5. When was the first word from the Rosetta stone deciphered?
A) 3100 B.C. B) 1766 C) 1799 D) 1822
6. What was the first word that was deciphered from the Rosetta stone?
A) cartouche B) Ptolemy C) demotic D) Champollion
7. Why were Napoleon’s soldiers in Egypt in 1799?
A) They were celebrating a naval victory. C) They were waiting to continue their campaign.
B) They were looking for the Rosetta stone. D) They were trying to decipher the hieroglyphics.
8. Who was responsible for deciphering the first word?
A) Champollion B) Young C) Ptolemy D) Napoleon
9. Why did Napoleon Bonaparte and his French soldiers come to Egypt?

PART 3. WRITING. TIME: 80 minutes. Maximum: 40 marks.
TASK 3.1. Read the dialogue and answer the question using NO MORE THAN TEN words. (max 10)

1. Woman: If | were you I’d take the bus to school. Driving in that rush-hour traffic is terrible.
Man: But by the time the bus gets to my stop, there aren’t any seats left.
What is the man’s problem?




2.

Woman: I’d like to take Dr. Sullivan’s section of Physics 100, but my advisor is teaching it too, and I

don’t want her to be offended.

Man: Who cares?

Woman: Well, | don’t want to get on her bad side.
Man: | wouldn’t worry about it.

What does the man mean?

3. Man: Let’s go to the dance at the Student Center on Friday.
Woman: Sounds great, but I’m going to a lecture. Thanks for asking me though.
What does the woman imply?
4. Man: That’s a nice bike.
Woman: | got it almost five years ago.
Man: You did? It looks new.
Woman: Yes, it’s still in really good shape.
What does the woman mean?
5. Woman: Would you like some hot coffee or tea?

Man: I like them both, but I’d rather have something cold.
What does the man want to drink?

TASK 3.2. Write a story, based on one of the key moments 1-4 below. (max 30)

Write between 250-300 words.
Use the four section plan from the box.
Give your story an interesting title.

Key moments:

1.

2.

3.

el =

The girls were brushing their teeth when Joe got home. He staggered down the hallway and dropped a
large cardboard box at his feet.

I looked out of the window again and then back at the clock. “Typical Robert” | thought to myself,
wondering what excuse he would try this time.

When my Uncle Tom turned up at my sixteenth birthday party without a present, I couldn’t hide the
disappointment on my face. “Don’t look so sad” he said kindly, “I just couldn’t bring it with me.”

The ticket inspector handed the ticket back to Anne with a nod of his head and continued on his way
down the train. He was a handsome young man, she thought, and he reminded her a little of her husband
when he had been the same age.

Section plan:

Attention hook a key moment from the middle of the story.

Flashback explaining previous events leading up to the key moment.

Events after the key moment how the story goes on after the key moment.

Resolution of the story how the mystery is solved.



Karoun k 3aganuam s 9,10 kjiaaccos.
Part 1. Use of English. (41 6an)

Task 1.1. 3a kaxblii mpaBHILHBIN O0TBET — 1 Oamt. (max 10)

1. B
2. C
3. C
4. A
5. C
6. A
7. D
8. A
9. B
10.D

TASK 1.2. 3a kaxplii mpaBUiIbHBIA 0TBET — 1 Oamt. (max 11)

were put

are being spoken

had been waiting

were looking

was put

locked, sat down (max 2)
will start

had been sailing

. have been trying

10. are not listening
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TASK 1.3. 3a kakaplii MPaBHILHO BIMOJHEHHBIN mepeBo — 2 Oamia. (max 20)

BepHbIM cunTaeTcs TOT IEPEeBO/], KOTOPbIl COOTBETCTBYET IPaMMAaTHYECKON KOHCTPYKIIUH U
COOTBETCTBYIOIICH BUIOBPEMEHHOM (popMme Tiaroia.

Part 2. Reading comprehension. (20 6amioB)
TASK 2.1. 3a kaxaplii mpaBHIbHBIN 0TBET — 2 Oasia. (max 14)

transition
rate

peers
consequence
unparalleled
may
concept

No gk~ owdrE



TASK 2.2. 3a kakaplit mpaBuIbHBIN 0TBET — 1 Oamt. (max 6)

Ow O wmc<
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Part 3. Writing (39 6ayos).

TASK 3.1. 3a xaxaslii npaBuiIbHBIN OTBET —1 Oait. [IpaBHiIbHBIM OTBETOM SIBIISIETCS OTBET,

(max 9)

v

TpaMMaTHYCCKHU HpaBHHBHBIﬁ U nepcaaronmmu OCHOBHYIO UJICIO BbICKAa3bIBAHU .

TASK 3.2. (max 30)

Buumanue! IIpu onenke 0 mo kputepuio '"Coaep:kanue' BbIcTaBJsieTcs 00masi ouenka 0.

OPOPMNMEHUE (makcumym 15 6annos)

Opdorpadusa n nyHKTyauma

(makcumym 3 6anna)

pammaTtmka

(makcumym 5 6annos)

Jlekcunka

(makcumym 5 6anna)

Komno3sunyumsa

(makcumym 2 6anna)

COAEPHAHME

(makcumym 15 6annos)

KomMMyHMKaTUBHasA 3aga4ya NoIHOCTbIO BbIMOJIHEHA C y4ETOM
LLenu BbiCKa3blBaHWA U agpecaTta. Tema pacKkpbiTa
NOMIHOCTbIO. YYACTHUK AEMOHCTPUPYET OPUTMHAbHbIN
NOAXOZ K PACKPbITUIO TeMbI. YUACTHUK YIOKUICA B
3a[,aHHbIN 06bEeM (LONYCKAOTCA OTKIOHEHUA B CTOPOHY
YBE/IMYEHUA AN YMEHbLLEHUA 06bema TeKkcTa 40 10 %).

BAJ1/1bl (3a coaep’kaHue)

13-15




YYacTHUK eMOHCTPUPYET yBEPEHHOE BAafEHME HAaBbIKaMM
opdorpadum 1 NyHKTyauumn. PaboTta He MeeT oWMBOK C
TOYKM 3peHunsA opdorpadnyeckoro n NyHKTYyaLMOHHOro
odopbmnenusa

2 banna

B TeKkcTe NpucyTCTBYIOT opdorpaduueckme n/mam
NYHKTYaLMOHHbIe OWMBKK, KOTOpble He 3aTPYAHAIOT 06Lwero

1 6ann

B TeKcTe npucyTcTBYIOT opdorpaduueckue m
NYHKTYaLMOHHble OWMBKK, KOTOPbIE He 3aTPYLAHAIOT 06Lero

YUacTHUK AeMOHCTPUPYET rPaMOTHOE U YMECTHOe
ynoTpebaeHue CTpyKTyp, HEOBXOAUMbIX ANA PACKPbITUA
Tembl. PaboTa He umeeT OWKnBOK C TOUKM 3peHns

rPaMmaTMyYecKoro opopmaeHus.

4 6anna

YUacTHUK A@MOHCTPUPYET rPAaMOTHOE U YMECTHOe

ynoTpebaeHue CTpyKTyp, HEOBXOAUMbIX ANA PACKPLITUA TEMbI.

B paboTte umetoTca 1-2 He3HauyuTeNIbHble FpaMMaTUYECKMe
OLWNBKM.

3 6anna

B TeKcTe NpMCYTCTBYIOT rpammaTmyeckue u/mam
CUHTaKcu4yeckme owmnbku (bonee 2-x), He 3aTpyaHAOWMe
06Lero NoHNMMaHuA TeKcTa. Uan: NCcnonb3yoTca NpocTble,

0HO06pa3Hble rPaMMaTUYECKME KOHCTPYKLMK.

5 6anna

Y4acTHUK feMOHCTpUpYeT boraTblil NeKcU4eckmnin 3anac,
Heob6x0aMMbII ANA PacKPbITUA TEMbI, TOUHbIV BbIGOP C10B U
afleKBaTHOe BNaZeHne NEeKCUYEeCKoM CO4eTaemMocCTbio.
PaboTa He MMeeT OLIMBOK C TOUKM 3PEeHUs JIEKCUUECKOTO
odopmneHus.

4 6anna

YuyacTHUK AeMOHCTpUpyeT 6oraTbiii NeKcuueckuin 3anac,
HeobX0oAMMbI ANA PACKPbITUA TEeMbI, TOUHbIN BbIGOP CNIOB U

aleKBaTHOe BnageHune NIeKCMYECKOol codeTaemocTbto. B _Ummo.ﬁm

MMEETCA HECKOJ/IbKO (1-2) He3HAUMTENbHbIX IEKCUYECKUX

owmnboK.

3 6anna

B LLe/IOM JIeKCMUYECKMI COCTaB TEKCTa COOTBETCTBYET
3a[,aHHOI TeMe, OAHAaKO MMetoTCA HETOYHOCTH B BbibGope
C/I0B M leKcUYecKol coyeTaemoctu (6onee 2-x), KoTopble He
3aTPYAHAIOT MOHUMaHWA TeKcTa. Uau: ncnonbsyercs

CTaHAQpTHaA, OhIOOGUmemm NNeKCHKa.

2 6anna

PaboTa He MMeeT OLWMBOK C TOUKM 3pEeHUA KoOMNo3numu.

1 6ann

B LLe/IoM TEKCT MMEET YETKYH CTPYKTYPY, COOTBETCTBYHOLLYIO 3aAaHHOMN Teme. TeKCT pasgeneH Ha ab3aubl. B TekcTe

NPUCYTCTBYIOT CBA3YIOLLMNE 3NeMeHTbl. [lonyCTUMbl HE3HaYUTENbHbIE HapyLLEeHUA CTPYKTYPbI, NOTMKU MU CBA3HOCTU TEKCTA.

KOMMyHMKaTUBHaA 3aa4a BbIMONHEHA C YYETOM Lenu
BbICKa3blBaHWA W agpecaTta. Tema pacKkpbiTa NONHOCTbLHO,
0fHaKo B paboTe He XBaTaeT OPUTMHANbHOCTM B PACKPLITUM
Tembl. M yY4aCTHWUK He YNOXKWACA B 3afaHHbIN 06beMm
(OTKNOHEHMSA B CTOPOHY YBEIMYEHUA NN YMEHbLLEHUA
obbema TekcTa ot 10 ao 20%).

KommyHMKaTMBHaA 3a4a4a B LLe1OM BbINOJIHEHA, OAHAKO
MMeIoTCA OTAe/IbHble HapyLUEeHWUA LLeSIOCTHOCTU COAePMKaHMA.
Tema packpbiTa He NOJIHOCTbIO: He NpUBeJEHbI BCe
Heobxoaumble aprymeHTbl U/uam GakTbl. Uan y4acTHUK He
Y/I0XKW/ICA B 3af,@aHHbIN 06bEM (OTKIOHEHUA B CTOPOHY
YBE/IMYEHUA NN YMEHbLLEHUA 06bema TekcTa oT 20 Ao 30%).

KoMMyHMKaTUBHaA 3aa4a BbIMONHEHA YaCTUYHO.
CopeprkaHue TeKCTa He MOJIHOCTbIO OTBeYaeT 3aaHHOWM
Teme. VAW y4acTHUK He YNOMXKMCA B 3afaHHbIN 06bem
(OTKNOHEHWA B CTOPOHY YBE/IMYEHUA UAN YMEHbLUEHUA

obbema Tekcta ot 30 go 40%).
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0 6annos

B TeKcTe NpUCYTCTBYIOT MHOTOYMC/IEHHbIE Opdorpaduyeckme
W/VNN NYHKTYaUMOHHbIe OLIMBKM, 3aTpyAHAIOWME ero

0 6annos

B TekcTe NPUCYTCTBYOT MHOIFO4YMNCNEHHbIE TPaMMaTU4eCkne

OES@XS‘ 3aTpygHAaoume ero nOHMMaHue.

0 6annos

YUacTHUK A@MOHCTPUPYET KpaitHe OrpaHUYeHHbIN
CNOBapHbI 3anac. Uau: UMeroTcs MHOMOYUC/IEHHbIE OLWMBKM
B ynotpebaeHmn NeKCUKK, 3aTpyaHAoLWMe NOHUMaHWe

TEeKCTa.

0 6annos

TeKCT He UMeeT YeTKOM orMYecKoi CTPyKTypbl. OTCyTCTBYET
WM HEeNpaBuIbHO BbINOMIHEHO ab3aLHOe YNeHeHNe TeKcTa.
MmetoTca cepbesHble HapyLLleHMs CBAZHOCTM TeKcTa u/uam
MHOTOYUC/IEHHbIE OLWMBKN B yNnoTpebaeHnn Normyeckmx
CpeacTB CBA3M.

KomMMyHMKaT1BHasA 3a4aya BbIMOJHEHA YaCTUYHO.
CoaeprkaHue TeKcTa He NOJIHOCTbIO OTBEYAET 3a4aHHOM
Teme. IIM YYACTHUK He YNOXKWUACA B 33ZaHHbIN 06bem
(OTKNOHEHMSA B CTOPOHY YBEIMYEHUA NN YMEHbLLEHUA

obbema TekcTa ot 40 ao 50%).

KomMMyHMKaT1BHasA 3agaya He BbinoaHeHa. CoaepikaHue
TEKCTa He OTBEYAET 3a4aHHOM Teme. MK y4acTHUK He
YNOXKWUCA B 33aHHbI 06bem (OTKNOHEHUSA B CTOPOHY

yBEAUYEHUA UM YyMeHbLueHus ob6bema TekcTa 6onee 50%).




Kuarouu k 3aganuam piasa 11 Kiaaccos.
Part 1. Use of English. (42 6aoB)

Task 1.1. 3a xaxplii mpaBUIbHBIN 0TBET — 1 Gamt. (max 10)

1. A
2. D
3. B
4. D
5. B
6. D
7. B
8. B
9. C
10.D

TASK 1.2. 3a kaxaplit mpaBwiIbHBINA 0TBET — 1 Oamt. (Max 12)

is falling

would have told

were

must have damaged

Are they speaking

will call

will accept

Has been reading

. lived, was, wrote (max 3)
10. have known
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TASK 1.3. 3a kaxaplii mpaBHIbHBIN 0TBET — 2 O6asuta. (max 20)

BepHbIM cunTaeTcs TOT IEPEeBO/], KOTOPbIl COOTBETCTBYET IPaMMAaTHYECKON KOHCTPYKIIUH U
COOTBETCTBYIOIICH BUIOBPEMEHHOM (popMme Tiaroia.

Part 2. Reading comprehension. (18 6amioB)
TASK 2.1. 3a kaxxaplii mpaBuiIbHBIN 0TBET —1 Gayut. (max 6)

A

in the late nineteenth century
wolves
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TASK 2.2. 3a kaxaplii mpaBrIbHBIN 0TBET — 1 O6as1. (Max 8)
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Because of his ambition to control all the area around the Mediterranean Sea.

Part 3. Writing (40 6aioB).

TASKGS.1. 3a kaXablii MpaBHWIIBHBINA OTBET — 2 Oaia. [IpaBHIbHBIM OTBETOM SIBIISIETCS OTBET
nepeaaronmii ciaeayromme uaen: (max 10)

He has to stand on the bus (if he takes it to school).
She should not consider her advisor in the decision.
She would go out with the man on another occasion.
The bike is in good condition.

He wants something cold.
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TASK3.2. (max 30)

<:Kpurepun oneHMBaHusA UACHTUYHBI KpuTepusaMm 1 9,10 kiraccos.
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